BRI X20224E-BAE R LR L322 R B PEAE T
# K B (LXx2022.5
FAM R 120 4080 4 150 4
BIE GEHRE H484)

— I CRAEIANE, SANEA, 6485 . /MBS BRI AR,

RE—TRMAEHERE. )

. A (AKEE 12 AVNE, BB 44, £484)

1.2022 462 1 4 HE 2 A 20 B, 5 24 A RS EA0% HAT S 0 A% 5. F
B4 BT B SRR B 02 )

7= : -
Y D E e
-- <,

A W B. S 4 C.

2. 30 RITH « )
A. 3 B. 0 C. 1 D. -1

3. FHLBHIERZ « )
A. d’+d*=d" B. (@’) ' =d° C. (abH=ab® D. a®+a’=d°

4. N WRIEE ST DGR LR RN E R BT BRI BROREIT R RER (RS I A %

%) ( )
h ha h h

L//\\ | //f

o > > > >

o t O t 0O

A B C D
5. TAGIRIERA ( )
AL AR S BT — 2 R 2 F BB B. Wit EEEER—EM R
C. PWITAKMEREE—ERe%RE D. WAL =Mk —ERe%EE
6. EABER R R IR E AR RN T 5 Ok, SR RRE BARE D, Eiridrie
R A 2 PP AR N LR W N BARBE SR A . AV B L 322 R LB Bl <G R
VIFEAEY IR R R 3, BV B0 3 BhOR T, B Ibaifl)msd Ut . 5 ROk
B E BREAL KA BRI 0.000005 K, #5457 0.000005 ‘5 plift2A e £k 5 51
«C )

#
=
M
U1
=



A. 0.5x10° B. 5x10° C. 0.5x1073 D. 5x107°

7. NHEEAUNREREIE = AT ( )
A. 5cm, 5cm, llcm B. 3cm, 4cm, S5cm
C. 8m, 7cm, 15cm D. 13cm, 2cm, 20cm

8. fnlE, ANIH LR = ATER R R T — AR
SRR B A AR — A5 1 R e =M, TR

LIXAA Z A TE 56 42— FE K HE 2 ( )
A. 84S B. SSS C. ASA  D. A4S 55 8 i

9. W, ACY BD WIZT&H 0, L1=.2, HFI“SAS” D C

W AABC2ABAD, WETRHRMA—5%MEZL () Zéij>%<izs\
A. AD=BC B. £C=/D i 1 AR
C. A0=BO D. AC=BD 5 0 i

10. ZEEMA=MATEY, H—ABMARS —MBAN 24, WX AMELRRE ()
A. 30° B. 45° C. 60° D. 90°

11§, ZWNE—RKERFEM Y, B2 s S ¢ R R C SR
WE R, FABIEERRE ()

1170 S,

AW, ZHARMG% a
B. HISEEIEA I A
C. ZAERCKIEI K FHIEIER 10 /B 0 TRy
D. ZILHIMEE 3 F 5 11
12, W, ENREREAGERY () ) o
A. a*—hp? B. ab a
C. a+5? D. 2ab . .
a b
512 8E

F 1% (JEgEEEt 102 4)

T B (RRESE 6 NS, RENE 4 5y, 3624 43)

13. (x+2)*=

b
o
=
pes
w1
p=il



14, s, /NBIARIN R 3E i A, B BIBEES, AT RAEW, AEBEF=/AE
MR, I TIxXAE— AR 4, B HMBER )% e B — i LA B
A FM B KR C, JFAC K 20m, BC KA 20m, 7EAC WIEKL LHk—mR D,
43 CD K4 20m, 7& BC BIE KL b — i £, ffifF CE K4 20m, AR IR
D fil E WyBEEA 25m, ARYE/NBIREEE, WA 4, B Z MR N m

A E A

B
14 BE 515 BE
15. AABC WyN MR RWME FiR, W L1=
16. FEHM=fAMHRILKA 25, M= ﬁjﬂ’B’JFﬂi’:ﬁ
17. WEl, fEAABC ¥, CD JEAABC W4, DE 2AACD
KR4, 5 ACDE MR 3 cm®, WMABCD WEBA

cm? .

5 17 JEiE
18. #lE: a®b=—(a—b)a+b), filly: 2@1=—2-1)x(2+1)=-3, %

m*=2022, Mm®10=
= REE (KRB O AN/NME, 678 4. EEHICERE B R RERESRE)
19, (A/MESE 2 3808, B8 3 4, $£643)

WHE: (D (—%xzyj-ISxyz ; (2 (3a2b2+2a2b)+ab

20, (A/NEHSY 6 43)
FALH, R m(2-m)+(m-1)(m+1), Hrm=2.

21, (A/NBHi 5y 6 53) !
e, AABC 5ADEF RTH% XK,
(1) RAWNMRA_ , ZBHIXRfAR_
(2) # AB=4, AC=5, 3K EF WIBUEEH.

b
w
=
pes
w1
p=il



22, (AW 8 43)

WK, DC & AB WEE V44, R AB T K C, £L4=40°, KRLB MEH.

e

23. (A/N8igor 8 43)

W@, AB=DF, AC=DE, BE=CF,

KiE: £LA=2D.

24, (A/NEG# 5 10 43)

e, WA (a+2b) fi(a+30) KT, BT 12 METBERKITE,

(1) E+A

(2) mkrr AR (a+2b)(a+3b)=

25.  (A/NEH4 10 43)

HAT, L#epiisma s BRI REN B, Nik—P 8% LilgBUldisE, 5
BREE SRR — R RPN B R4 L. O T RBI SIS B, AR
NGERGER, THEMERMFEME, HEICRmT:

AAKA a WIETTE,
AP a b WKITIE;

4 C
4
B E F
MNIKHN b IEFTTE,
b
b
a
a b b b

VREITIEH ¢ (VNBT) 0 1 2 3 |
HAERME O () 100 |95 90 85 ...
(1) mERRMAHANE RS, AE R , FARER

(2) AR, IRFEATHE 3 /NIEIE, %2 A AR R T, WERN

Fi Ft.

Q) WHEFHRMEREZWHRARX (1 RFR 0) .

b

=
=
=




26.  (A/NEHY 12 43)
WM&, 76 RtAABC 1, BD &/ ABC {1 F-434%, DELAB , BC=dcm.

(1) % ED=2cm, W DC= cm;
(2) 3KiE: BE=BC;
(3) BEAAED WK 4cm, AC=3cm, 3K AB fjK.
A
E
D
B He

27. (A/NBW5 12 43)

(1) BRI R

W 1, FEAABC 1, £BAC=90°, AB=AC, B % A , H B\ CWiSHEH
&IWEM, BDLHE% !, CELH% I, ®EMHMARKD, E WEHIEFH DE, BD fi
CEMj*%.

(2) BRIERS 1 ALERHRE

WE 2, 78 (1) WK, B, CHRAERER MR, (1) MEREmoLg?
WBOL, WRGHIEN ;s HABOL, W DE, BD F1 CE MRFR, HEW.

(3) BERIMIERS 2: fAEMBUE

i 3, 78 (1) MAE T, BEAEAREA THENMA, I LBAC-L1=22=a,
Hrr90°<a<180°, (1) WZIEEMOLS? o, R el ; S0, iF
YW DE, BD 1 CE IR &, FHEH].

C B c
B
B
D E
i1 D A E l Aw i D A E
1 2 3

3]

C



	二、填空题（本大题共6个小题，每小题4分，共24分）

